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PART A: Vocabulary

Dfreﬂfﬂns: Choose the word or phrase (1), (2), (3), or (4) that best completes mch

sentence. Then mark your answer sheet.

1- Your new spokesperson is very --—------ and clearly comfortable speaking in front of
large audiences.
1) impatient 2) willful 3) voluble 4) modish

2- That ring is made from an ----e-e-- of minerals; if it were pure gold it would never hold
its shape.
1) occurrence 2) elaboration 3) intervention 4y amalgam

3- Fortunately, the parliament --------- the new law that would prohibit companies from
discriminating according to race in their hiring practices.

1) abridged 2) ratified 3) magnified 4) persuaded
4- The teacher did not appreciate the student's —---—- -- and gave him detention,
1) sarcasm 2) advent 3) blunder 4) reverie

5- The police have not yet been able to find the missing child; to all of the searchers, the
child's location is still a great «-=-=--=- g
1) fallacy 2) enigma 3) remorse 4) sympathy

6- I really feel sad to say that we are now witnessing environmental destruction on an
el 11 [ 8
1) implicit 2) inadvertent 3) articulated 4) unprecedented

7- Ted was severely ---———-—- by his colleagues for his use of offensive language when
addressing the guests.
1) d{:vialuf 2) castigated 3) resigned 4) hardened

8- As shrinking military budgets add to economic woes, arms manufacturers are -—-——-
seeking to expand their markets.

1) nocturnally 2) equivocally 3) indecisively 4) aggressively
9- Much to my --------- , 1 should confess that we don’t have a good indication that women
are actually taking better care of themselves today.
1) indifference 2) verification 3) chagrin 4) jubilance
10- It is to be remembered that living in a ---eee--- country is no guarantee you will
necessarily live a long life.
1) prosperous 2) conceptual 3) conceivable 4) long-winded

PART B: Cloze Passage

Directions: Read the following passage and decide which cheice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

The human question is the big one. (11) --------- on humans are very thin. Most human
populations that are forced to survive on low-calorie diets are also malnourished and are as
likely (12) =----=--- from vitamin and mineral deficiencies. (13) ------—- is on the Japanese
island of Okinawa. Walford notes: “The Okinawans have about (14) ------- -- the calorie intake
of the rest of Japan. They ¢at mainly fish and vegetables. They have as much as 40 times the
incidence of people (15) ==--=--- 100. They have less diabetes. tumors and so forth than the rest
of Japan.”
11- 1) The data exist 2) The data whose existence

3) Existing data that are 4) The existing data
12- 1) not to die as prematurely 2) as not to die prematurely

3) so not to prematurely die 4) not to die prematurely as
13- 1) Only one exception to know 2) The only exception to know

3) The only known exception 4) One exception is only known
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14- 1) 70 percent of 2) a percentage of 70
3) 70 percent 4) 70 of the percentage
15-1)in 2) for 3) over 4) with

Part C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet,

PASSAGE 1:

Potentially acid sulfate soils (also called cat-clays) are often not cultivated or, il they are, planted
under rice. so that the soil can be kept wet preventing oxidation. Subsurface drainage of these soils
is normally not advisable. When cultivated. acid sultate soils cannot be kept wet continuously
because of climatic dry spells and shortages of irrigation water, surface drainage may help to
remove the acidic and toxic chemicals (formed in the dry spells) during rainy periods. In the
long run surface drainage can help to reclaim acid sulfate soils. The indigenous population
of Guinea Bissau has thus managed to develop the soils. but it has taken them many years of
careful management and toil. The successful application of subsurface drainage in acid sulfate
soils in coastal polders of Kerala, India has also been observed. A study in South Kalimantan,
Indonesia, in a perhumid climate. has shown that the acid sulfate soils with a widely spaced
subsurface drainage system have yielded promising results for the cultivation of upland
rice, peanut and soybean. The local population. of old. had already settled in this area and were
able to produce a variety of crops (including tree fruits). using hand-dug drains running from
the river into the land until reaching the back swamps. The crop vields were modest. but
provided enough income to make a decent living. Reclaimed acid sulfate soils have a well-
developed soil structure: they are well permeable, but infertile due to the leaching that has
oceurred. In the second half of the 20th century, in many parts of the world. waterlogged and
potentially acid sulfate soils have been drained aggressively to make them productive
for agriculture. The results were disastrous.

16- 1t is stated in the passage that................
1) hand-dug drains are used on cat-clay swamps
2) cat-clays are used mostly for rice cultivation
3) water can easily pass through reclaimed cat-clays
4) even modest cat-clay crop yields come at a great price
17- We best understand from the passage that.................
1) cat-clays are extremely fertile after leaching occurred in them
2) cat-clays develop a subsurface drainage system in a humid climate
3) reclaiming cat-clays through surface drainage is quite time-taking
4) surface drainage removes cat-clay toxic chemicals even in dry seasons
18- The passage points to the fact that..............
1) it is possible to plant tree fruits on cat-clays
2) cat-clays often get frequent water shortages
3) cat-clays must undergo only subsurface drainage
4) Guinea Bissau land is composed mostly of cat-clays
19- The passage mentions that.................
1) soybean is a profitable cat-clay crop
2) cat-clays may be kept from oxidation
3) waterlogged cat-clays are very fertile
4) Guinea Bissau is a big producer peanuts
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20- A polder in the passage (underlined) is best a piece of.............Jand.
1) “mineral-rich® 2) *semi-arid’ 3) “self-irrigated” 4) ‘low-lying’

PASSAGE 2:

Biochar is a name for charcoal when it is used for particular purposes. especially as a soil
amendment. Like all charcoal, biochar is created by pyrolysis of biomass. Biochar is under
investigation as an approach to carbon sequestration to produce negative carbon dioxide
emissions. Biochar thus has the potential to help mitigate climate change. via carbon
sequestration. Independently, biochar can increase soil fertility. increase agricultural
productivity, and provide protection against some foliar and soil-borne diseases. Furthermore,
biochar reduces pressure on forests. Biochar 1s a stable solid, rich in carbon and can endure in
soil for thousands of years. Pyrolysis produces biochar. liquids, and gases from biomass by
heating the biomass in a low/no oxygenenvironment. The absence of oxygen
prevents combustion. The relative yield of products from pyrolysis varies with temperature.
Temperatures of 400-300 “C produce more char. while temperatures above 700 °C favour the
vield of liquid and gas fuel components. Pyrolysis occurs more quickly at the higher
temperatures. typically requiring seconds instead of hours. High temperature pyrolysis is also
known as gasilication, and produces primarily syngas. Typical yields are 60% bio-oil, 20%
biochar, and 20% syngas. By comparison. slow pyrolysis can produce substantially more char
(~50%). Onee initialized, both processes produce net energy. For typical inputs, the energy
required to run a “fast™ pyrolvzer is approximately 15% of the energy that it outputs. Modern
pyrolysis plants can use the syngas created by the pyrolysis process and output 3-9 times the
amount of energy required to run. The Amazonian pit/trench method harvests neither bio-oil
nor syngas. and releases a large amount of CO2, black carbon, and other greenhouse
gases (GHG)s (and potentially, toxins) into the air.

21- According to the passage, high temperature pyrolysis..........c.ovu..
1) typically produces less biochar than bio-oil
2) outputs 10 times the energy required to run it
3) gives out more char than gas fuel components
4) vields CO2, black carbon, and greenhouse gases
22- The passage points to the fact that...............
1) pyrolysis is also known as gasification
2) soil fertility is an index of productivity
3) biochar remains in soil practically forever
4) rainforests reduce pressure on biochar use
23- We understand from the passage that..............
I') slow pyrolysis is more efficient for char production
2) the trench method of pyrolysis produces only syngas
3) the yield from pyrolysis varies with amount of oxygen
4) “fast” pyrolyzers use some 50% of their “input’ energy
24- The passage mentions that in pyrolysis....ccoceiiann
1) higher temperatres produce better quality biochar
2) the higher the temperature the quicker the process
3) biochar quality depends on the quality of its biomass
4) lower temperatures make for more carbon rich biochar
25- The word *foliar’ in the passage (underlined) is best related to a tree...............
1) “stem’ 2) “bark’ 3) ‘root’ 4) *leaf”
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PASSAGE 3:

Soil carbon is the generic name for carbon held within the soil. primarily in association with
its organic content. Soil carbon is the largest terrestrial pool of carbon. containing 2.200
gigatonnes (Gt) of it. Although the figure is frequently being revised upwards with new
discoveries, over 2.700 gigatonnes (Gt) of carbon is stored in soils worldwide. which is well
above the combined total of atmosphere (780 Gt) or biomass (575 Gt), most of which is wood.
Carbon 18 taken out of the atmosphere by plant photosynthesis: about 60 Gt annually 15
incorporated into various types of soil organic matter (SOM). including surface litter: about 60
(it annually is respired or oxidized from soil. Soil carbon is the last major pool of the carbon
cycle. The carbon that is fixed by plants is transferred to the soil via dead plant matter,
including dead roots, leaves. and fruiting bodies. This dead organic matter creates a substrate
which decomposes and respires back to the atmosphere ascarbon dioxide or methane.
depending on the availability of oxygen in the soil. Soil carbon is also oxidized by combustion and
returned to the atmosphere as carbon dioxide. Soil carbon is primarily composed of biomass and
non-biomass sources. Biomass carbon includes various bacteria and fungi. Non-biomass
carbon sources or substrates reflect the ¢chemical composition of plant biomass, and primarily
include cellulose, starch. lignin, and other diverse organic carbon compounds. Some of the
substrate carbon binds to the mineral soil, becoming encapsulated in soil aggregates (singular
masses of coherent soil particles. or peds) or chemical complexional. Biomass feeds on the
substrate carbon compounds at different rates. Some of the carbon compounds are easily
digested and respired by the microbes, resulting in a relatively short residence time. Others like
lignin, humic aecid, or substrate encapsulated in soil aggregates are very difficult for the
biomass to absorb and have long residence times.

26- The passage mentions that...............
1) soil carbon can come from cellulose. starch, lignin
2) soil carbon is the only major pool of the carbon cycle
3) plant carbon transfers to the soil via dead plant matter
4) biomass does not feeds on substrate carbon compounds
27- It is stated in the passage that...............
1) soil carbon is oxidized by atmospheric air
2) the biomass cannot easily absorb soil lignin
3) respired microbes have a short residence time
4) substrates respire back to the soil as methane
28- We may understand from the passage that the amount carbon stored in soils around
the world................
1) help its production as biomass in some places
2) can equal that in biomass and atmosphere
3) is the same today as it was a century ago
4) will never fall below that in atmosphere
29- According to the passage,......covvveennee
1) soil aggregates are the same as peds
2) humie acid is digested by microbes
3) surface litter is usvally oxidized in soil
4) biomass includes more bacteria than fungi
30- The word *encapsulate’ in the passage (underlined) is closest to.............
1) ‘revive’ 2) ‘process” 3) “include’ 4) *function”
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http://result2.sanjesh.org/keyarshad9411/NOET/Questionskey.aspx?id...
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1 3 31 1 61 3 91 2 121 1 151 3
2 4 32 1 62 2 92 4 122 3 152 3
3 2 33 4 63 1 93 4 123 2 153 1
4 1 34 4 64 1 94 3 124 1 154 4
5 2 35 2 65 1 95 2 125 1 155 4
6 4 36 3 66 1 96 1 126 4 156 4
7 2 37 2 67 1 97 3 127 2 157 2
8 4 38 3 68 4 98 1 128 4 158 3
9 3 39 4 69 4 99 2 129 4 159 3
10 1 40 1 70 2 100 2 130 3 160 2
11 4 41 2 71 4 101 1 131 3 161 1
12 2 42 4 72 4 102 3 132 2 162 3
13 3 43 2 73 3 103 1 133 4 163 4
14 1 44 1 74 3 104 4 134 2 164 2
15 3 45 1 75 4 105 1 135 3 165 1
16 3 46 2 76 1 106 3 136 3 166 4
17 3 47 1 77 1 107 4 137 2 167 3
18 1 48 4 78 3 108 2 138 4 168 3
19 2 49 4 79 1 109 4 139 1 169 2
20 4 50 3 80 1 110 3 140 1 170 1
21 1 51 2 81 2 111 4 141 4 171 4
22 3 52 1 82 1 112 3 142 2 172 1
23 1 53 1 83 3 113 2 143 3 173 4
24 2 54 3 84 2 114 3 144 3 174 4
25 4 55 3 85 4 115 4 145 3 175 2
26 1 56 4 86 2 116 1 146 4 176 3
27 2 57 3 87 2 117 3 147 4 177 1
28 4 58 2 88 2 118 4 148 1 178 1
29 1 59 3 89 3 119 1 149 2 179 2
30 3 60 1 90 3 120 1 150 1 180 3
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